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10.

OR (3121a1)

Discuss the construction and working of a
thermostat used in a automobile radiator.

Arciarsd ISV ¥ Hagd Al
@1 91de Ud »rd fafer &1 quie & |

Describe the construction and working of
electric fuel feed pump. 8

faea S99 wIs v & §99c vd SR
fafer ®1 qvia & |

OR (3121a1)

Write notes on the following :
(a) Turbocharger used in C.I. engine
(b) Exhaust manifold

frifea ox fewoft fog -
(®) ol o H Adgd cdlareiy
(@) vasiiee Afwics

Describe in detail the plunger type fuel feed
pump used in diesel engine.

SIvedl 399 A agd Wik <3y Wd
Bls U9 &1 AfaedR aof— B |
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Time : 3Hrs. Sem - I'V-Mech(Auto)
Auto. Engg.- 11
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 4 1352 |
Answer all Five questions from Group B, each question

carries 4marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift o9 yeal @ SR <, UAS U &1 99 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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5.

Describe octane number and cetane number of fuel.
4

3G & ITde G&AT Uqd HIed I &AT &I
quid &Y |
OR (3121an)

What do you mean by pre-ignition in an engines ?
Describe in brief.

goF § W—svITE @ 3y dr aesd 27
Tfera quia &3 |

Why is cylinder head cast separately from
cylinder block ? 4

fafersv 2 Rifer—eX =diid A 3T T
STl SITdT 27

OR (3121a1)

Describe the working of A.C. mechanical fuel pump.
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The materials used for cylinder head blocks
are.

(a) Cast iron and steel

(b) Cast iron and aluminium alloy

(c) Steel and aluminium alloy

(d) Brass and steel

ffer=t s wife o fod @agad g1g
...................... Bl © |

(31) dr¥c 3MARA vd el

(@) < IMRRA 3R A9 oty
(\) rd vd gty vty

(g) dider v wa

Most difficult gasket sealing problem occurs
at the.
(a) Head (Cylinder block cover)
(b) Oil pan
(c) Timing cover
(d) Intake manifold
P.T.O
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GROUPB

Answer all Five Questions.

gl uig 93 & SN < |

2.

5x4=20

Describe gasket in brief. Mention the materials of
the gasket. 4

MR®e &1 Gfera qofa &Y | Mec fea
gTg, b1 91 8idl &, g |

OR (3121a1)
How does a self-starter work ?

Ao e fod ydR & Hdr 27
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(vi)

(vii)
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The number of bearings in four cylinder car
engine is usually.

(a)2

(b)3

(c) 4

(d)6

IR RifeeX a1 R soiq 7 IR
I AT AT o BIdl 21
(@) 2
(@) 3
() 4
() 6

The material used for inlet valve is usually.
(a) Silicon-chrome steel
(b) Austinitic steel
(c) Precipitation-harding steel
(d) Nemonic alloy
P.T.O
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The compression ratio in an automotive
diesel engine is usually.

(a)7:1

(b)10:1

(c)15:1

(d)22:1

Jfanifed ol 399 A SR U

Rk 152 1< BIdT @ |
@) 7:1
(@) 10 - 1
(@) 15 : 1
(]) 22 : 1

One effect of detonation is

(a) Delay in ignition

(b) Interruption in lubrication

(c) Loss of power

(d) Deterioration in quality of air-fuel mixture

04043

(x)

(xi)

(xi)

(xii)

7 33401

(]) SWIFd 4 4 Big Tl

The purpose of the thermostat is to keep
the engine

(a) Hot

(b) Cool

(c) At desired temperature

(d) None of the above

AT &1 gAIoH (Hrf) g9 &I
.......................... QT BIdT 2 |

(31) ==
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The primary function of lubrication is to.
(a) Provide cooling effects
(b) Provide sealing action
(c) Provide clearing action
(d) Reduce wear
P.T.O
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11.

OR (3121d1)

What are the types of nozzles used in C.I. engine?
Describe any one type of nozzle in detail.

Moo oA A audgd AAorall @ fas
gyhR 2?7 fodl th ybR & AISd &l
Afeedar qoie & |

Describe in detail various types of fuel suitable for
automotive engine. Give specific examples in each

care.
8

Jiciifed o9 & ford Sugaa A= yaR
@ SO DI GfawdR avfd & | ydD & forg
fafdrse SerEvor <

OR(37214T)

Describe clearly how pre-ignition differ from
detonation use simple sketches to explain this.

fi—gvem feeiveq @ 99 = shar 2,
g quid HY | 39 A @ ford |remRon
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11.

OR (31214r)

What are the types of nozzles used in C.I. engine?
Describe any one type of nozzle in detail.

oS0 oA A udgd AAoral @ fas
gyhR 27 fodl th bR & AISd &l
Afaear qoie & |

Describe in detail various types of fuel suitable for
automotive engine. Give specific examples in each

care.
8

Jiciifed o & ford Sugaa A= yaR
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Describe clearly how pre-ignition differ from
detonation use simple sketches to explain this.
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